weR e Wt - 1L 2016-17 . m

SUMMATIVE ASSESSMENT - 11, 2016-17 @S TTRTi1 7\
I:l / MATHEMATI C S s _.!_'.-an-m(r LRI SHLOG00
& - X/ Class - X L 5
iR ¥9e:3 hours J(erehad 3R : 90

Time Allowed: 3 hours Maximum Marks: 90

o= e

1. gty e §1

0 T T 31 9F F, o ewEst o, §, §AN e § Wi ¥l T -3 T 4
# fr oI 1 37 1 3; T 6 W ¥ o wole % 28t U TwE-n 4 10 99
& foi TorE F 3 2T 8 Y @Wue-g § 11 WA € T w4 F 6

3, 39 ¥ 9A § i ey T B

4, FoTFOIR T WA afsld ¢

General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questiors ¢ vided ir .o four sections A, B, C and
D. Section-A comprises of 4 questions « 1 ma.” _uch; Section-B comprises of 6
questions of 2 marks each; Section-C ¢’ m} ‘ses of 10 questions of 3 marks each and
Section-D comprises of 11 questions ~f 4 mark. =ach.

3, There is no overall choice in this questi. vaper.

4, Use of calculator is not permitter’
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Question numbers 1 to 4 carry one mark each
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If one root of the qu-drat. ~quation is = then what will be the other root ?
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A man 1.5 m ta. is 2. 5 meters away from a tower of height 25 m. From his eyes, find the
angle of - 'evation ¢ " the top of the tower.

U T S AT AN O T A Wl 3 S k] IRl 0 SHS 1
Finc the = _“ability of getting an odd prime number when a die is thrown once.
2 Fhex@ 99 T HE O (5, —3) & AU U Ja % =AW % A BR fag A (7, —5) T B (x, y) T
2T y 1 HF T I
A (7, -')and B (x, y) are the extremeties of the diameter of the circle which is concentric with
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| the circle whose centre isO (5 - 3) Find the values of x and v I TUTORI AL
m_a-/ SECTION B ; o _lj'.-‘t:]n!'a(?lf L 0835850060
T WEAT 5 9 10 H W & 2 o T ‘ |
Question numbers 5 to 10 carry two marks each. i
5 T AT 6 21 100, AP, : 25, 28, 31, ....... 1 W TE & 77 7= | 2
Find if 100 is a term of the A.P., 25, 28, 31, ar not. )
6 !k%ammmﬁﬁqﬁwmmxumkxus oﬁ:aﬁsmﬁrﬁ{aqﬁal | 2
Find the positive values of k for which the equation x2+ 10kx + 16 = 0 has no real roots.
7 ﬂ@WﬁWOﬁﬁWPTWﬁWEHW&TPO 25° T x° T A A 11T | 2
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In the fxgure, if PT is a tangent to the circle with cer.re O and /TPO= 25° then find the
measm-e of x°
/7¥ e
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| |
- Draw a line segment AB of lengtl cm. Fina a point P on it which divides it in the ratio4 :5. .
T H A AT g9 W e 4 L 7' DE @1 DF 31 w99 Y@ i<t 7€ § | ¥ DE=5 cm de | 2

DELDFﬁrqaaﬁﬁmTamﬁﬁm

In the given fig. ~e L." and DF are tangents from an external point D to a circle with centre A,
IfDE=5rmand L." L DF. Then find the radius of the circle.
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A circular park is surround ed'by a road 21 m wide. If the radius of the pjstri(-_is 105 m, find the |

area of the road. L
EUZ-H f SECTION-C
9T GEAT 11 § 20 5 Yedh 1 3 3R B

! Question numbers 11 to 20 carry three marks each . =
| 9 AP % W 25 W& Tl A S FC, PRt n & g a,=2— 3n G e T
Find the sum of first 25 terms of an AP whose n™ term is given by ap=2—3n.
T HINT : 21x2 —8x—4=0
Solve the quadratic equation : 21x*—8x—4=0 _
5591 5 cm TR T T R T T@edl 3 U I I T HITSIT S IIER 2 o Thiv O SR o |
Draw a pair of tangents to a circle of radius 5 cm which are inclined to each othe. ™ an angle of 50°
T AR U Al 69 TGS § A9 SR S Th SIeEs el g, §1 -7 30 Wit 5t 99 W
feor T foig ¥ U@ Yae dEdr © S weee & wid @R YR % S I %O 60° S 45° B
NS Tl SeTE YT HIFR ol GEis T ShiTSg |
A tower stands on a horizontal plane and is surmounted F, a fl gstaff. At a point on the plane, 30

metres away from the tower, an observer notices that the . ~e' :s or elevation of the top and bottom
of the flagstaff are 60° and 45° respectively. Find the h~'_. = af v. = flagstaff and that of the tower.

TF T % UM ¥ % SR H G b §, SHh AE B 16 W AR Sl TER T ARSI
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(A) B 2TeTEl C (B) OB &
(C) TR TR (L, U 5 e

. A child has a block in the shape r. - cube with one letter/ number written on each face as shown
below :

1] [a] [a] [8] [c] [o]
The cube is thrown once. Find the probability of getting
(A) BorC (B) a number
(C) a vowel (D) a consonant

y-21e T Teord 5 2 % 1o ieh i <RSI, ST g (—7,9) ¥ 542 TR W gl TR

Frnd the coordip “== ~fa 1. int on the y—ax|s which is at a distance of 52 units from the point (=7,

’ﬁclgA —5),.'@,3Jﬁﬂc{7,3)niﬁﬁﬁﬁaﬁ?ﬁﬁfﬁl foig A=t D ¥ gl 9@ IfeIw, S Y= BCEH 4
:3%313\#1?('1%'47 A T B |

The p .nts A= 2, —5), B(0, 3) and C(7, 3) are the vertices of a triangle. Find the distance of the point
Afro.aD whh dlwdes the side BC in the ratio 4 : 3.

T o STEAR 37 AT & Forgent B 7 om ST $9E 10 e §1 10 6 Tl =1 9 o f e otet

SH & 3 AYIHA &M 7 (= “?_—* 1 YA FHIAT)
A glass is in the shape of a cylinder of radius 7 cm and height 10 cm. Find the volume of juice

in litres required to fill 6 such glasses. (Use w= 2?—2)

WERRT o T UiEe F F9M gl W e 24 et € o iR 9w 9 9l g8 € 1 worw il @ e se
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. The sum of the third and fifth terms c€an AP is « ? and their product is 432, find the AP.
i A . : .

om 1 59 TR Y 2 AT Sfere 35 i S o1 1 At T TR (o = 22 aﬂmaﬁﬁq)

‘The wheel of a bicycle has 24 spokes which are equally spaced and are fixed wrth the centre. The

length of each spoke is 56 cm. Find the area between the two consecutive spokes of the wheel. (Use
22

| mm

7
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Ft BT 3 em SRS 4 em B 5 Fadi =1 Fqel ggie deer T wife |

A toy is in the form of a cone mounted on a hemisphere with the same radius. The radius of
the base of the conical portion is 3 cm and its height is 4 cm. Find the total surface area of the

toy. _
EUE-q / SECTION-D

99T e 21 T 31 7 Y o 4 & E

Questlon numbels 21 to 31 carry four marks each.

U AP H, 61 U8 |18 U o1 e ¥ SR 0 Ug 15 § | fhe. 6 % engvasar St e g 66 F 4
TR Bl ST ? |
In an AP, 6t term is half the 4t term and the 31d terr s 15 ... many terms are needed to give a |
sum that is equal to 66 7

T T Bt % ol %) o seet W o T Y ad e T ) e ded a4

TS /735 & § R0l al BT S 9 it

The hypotenuse of a right triangle is 4 timr . *he smailest side. The third side is /735. Fmd the
hypotenuse and the smallest side.

T AP 3 T iR Wiel Tel 1 9 428 R SRT qUFTHRT 432 81 AP T ST | K
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Tangents , " and 'B are drawn to a circle with centre O from"a paint P outside the circle. Prove that

CZCPA= SOAN.

TF AABC ¥ (A, 18 BC=12 cm, AB=5 cm 3R ZB=90° &1 a;&acﬁmﬁmw Eﬂé’f 4

T T3 =1 il A1 i |
Draw a AABC in which BC=12 cm, AB=5 cm and #B=90°. Construct a triangle similar to AABC with

scale factor E

g W flow wh g P H, 10 m S T w9 F 30 ST v 30°% | 3W 99 % VY WU 4
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From a point P on the ground, the angle of elevation of the top of a 10 m tall building is 30°. A flag- |
staff is hoisted at the top of the building and the angle of elevation of the top of the flag-staff from Pis |

45°, Find the length of the flag-staff and the distance of the building from the paint P. i
52 @I <t T Mg W W weft Al @i e fean S € qen T 8 aq%”rwi‘m‘sﬂm%lﬁﬁmﬁ 4

_qﬁwmwwélﬁmmmmﬁaﬁmaﬁaﬁﬁq
(A) TR EPH (B) T T
(C) o ehrel FHIE (D) U T SeRAT

| All kings are removed from a deck of 52 playing cards and then well shuffled. One card is se]ected |

- from the remaining cards. Find the probability of getting:
{A) a spade. (B) a queen.
(C) a black card. (D) ared ace.
UF =1 ABCD F YT A(S, 4), B(—2, 1), C(1, —6) S D(8, —3) §1 weafgg 5, 1o §6eT TF ¥ 4
T e eg T o1 ARt 58e U foashot w ffta wmeng B % e A = ST

 The vertices of a square ABCD are A(S, 4), B(—2, 1), C(1, —6) and DI? —3, ‘leriy thatthe area of an

equilateral triangle described on one of its sides is equal to half the . "ea of .ne equilateral triangle

described on one of its diagonals. ol s
A . B . 4

RY P 2

2R H, ABCD T 2T &, forae! o 1042« ¥ it €S8 542 cm 21 4fE ApB TH THIgSIE
Tyt &, Sl =279 AB TG g % et ¥ O DETe. T & I &t S hifsie |
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In the figure, ABCD is a rectan,_ '~ of "zngth 10v/2 em and breadth 52 em. If APB is an isosceles
triangle inscribed in the sen. ‘rcle w .n diameter AB, find the area of the shaded region. '
firef) Bigp o1 S @ < WEy g W R WM Al SR YR S WHIR Tk e IR & 9 Al 4
SRR | BFT W S e % e i |

A cone is divi ad 1. "o two parts by drawing a plane through the mid-point of its axis and
parallel to its bas. Cown pare the volumes of two parts.

A R = 9 M G REER @ % A AT W 7m e e 9 S TR § | 9 SR 4
T Y T TR\ @mmatmﬁa?mw@ﬁmmfﬁ?m#ﬁ@mh T%’é"?(w=?em
WS Tyl \ '
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TUTORIAL

Contact D o8ISR0 000

+ Three cows owned by three fa.rmers are tied at three corners of a triangular plot with ropes of 7m
length each. Find the area grazed by cows. What value is depicted by the farmers ? (Use m = §]
' 7
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